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Q.1 In a family of eight persons, there are two couples, each having 

two children. B and D are brothers and each has two children. E is 

the aunt of A, who is the cousin brother of C. 

C is the sister of H, who is the cousin brother of G. F is the wife of B. 

How is H related to F?

आठ व्यक्तियों के एक परिवाि में, दो जोडे हैं, प्रत्येक के दो बच्चे हैं। B औि D भाई हैं 

औि प्रत्येक के दो बच्चे हैं। E, A की आंट ह,ै जो C का कक्तजन ब्रदि ह।ै C, H की बहन ह,ै 

जो G का कक्तजन ब्रदि ह।ै F, B की पत्नी ह।ै H, F से कैसे संबंक्तित ह?ै

(A)Nephew / नेफ्यू

(B) Son-in-law/ दामाद

(C) Son/ बेटा

(D) Brother-in-law/ ब्रदि इन लॉ
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A + B means ‘A is the sister of B’./ A + B का अर्थ ह ै'A, B की बहन ह'ै।

A − B means ‘A is the son of B’. / A − B का अर्थ ह ै'A, B का पुत्र ह'ै।

A × B means ‘A is the father of B’/ A × B का अर्थ ह ै'A, B का क्तपता ह'ै

A ÷ B means ‘A is the brother of B’/ A ÷ B का अर्थ ह ै'A, B का भाई ह’ै

Q.2 If S × M ÷ U + L × Z − I is true then how is L related to I? 

यदद S × M ÷ U + L × Z - I सत्य ह ैतो L, I से कैसे संबंक्तित ह?ै

(A)Husband / पक्तत

(B) Son / बेटा

(C) Father / क्तपता

(D) Brother/ भाई
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Q.3 Pointing to the photograph of a lady, Sukanya said, 

"Her son's son is the brother of my daughter's sister." How 

is the lady related to Sukanya? 

एक मक्तहला की तस्वीि की ओि इशािा किते हुए, सुकन्या ने कहा, "उसके 

बेटे का बेटा मेिी बेटी की बहन का भाई ह।ै" वह मक्तहला सुकन्या से दकस 

प्रकाि संबंक्तित ह?ै

(A)Mother / मां

(B) Mother-in-law/ सास

(C) Daughter / पुत्री

(D) Sister / बहन
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Q.4 P and Q are husband and wife. P's father-in-law is R's 

wife's father. Q is the brother of T. How is P related to R's 

wife?

P औि Q पक्तत-पत्नी हैं। P के ससुि R की पत्नी के क्तपता हैं। Q, T का भाई 

ह।ै P, R की पत्नी से दकस प्रकाि संबंक्तित है?

(A)Aunt/आटं

(B) Cousin / कक्तजन

(C) Sister-in-law / क्तसस्टि  इन लॉ 

(D) Brother / भाई
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Q.5 P, L, T, B, N and D are six members of a business 

family. N is the son of B, who is not the mother of N. L is the 

brother of B. D and B are a married couple. T is the 

daughter of D, who is the sister of P. How is N related to T?

P, L, T, B, N औि D एक व्यवसायी परिवाि के छह सदस्य हैं। N, B का 

बेटा ह,ै जो N की मां नहीं ह।ै L, B का भाई ह।ै D औि B एक क्तववाक्तहत 

जोडे हैं। T, D की बेटी ह,ै जो P की बहन ह।ै N, T से दकस प्रकाि संबंक्तित 

ह?ै (A)Sister /बहन

(B) Mother/ मां

(C) Father/ क्तपता

(D) Brother/ भाई
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Q.6 ‘A # B’ means ‘A is the son of B’. / A # B' का अर्थ ह ै'A, B का पुत्र ह'ै

‘A @ B’ means ‘A is the mother of B’./A @ B' का अर्थ ह ै'A, B की मााँ ह'ै

‘A & B’ means ‘A is the wife of B’./ A & B' का अर्थ ह ै'A, B की पत्नी ह'ै

‘A % B’ means ‘A is the sister of B’./ A % B' का अर्थ ह ै'A, B की बहन ह'ै

If ‘M @ R % K # G # N & T’, then which of the following statements is 

NOT correct? 

यदद 'M @ R % K # G # N & T', तो क्तनम्नक्तलक्तित में से कौन सा कर्न सही नहीं ह?ै

(A)M is the mother of K. / M, K की मााँ ह।ै

(B) R is the daughter of G./ R, G की बेटी ह.ै

(C) T is the paternal grandfather of M./ T, M का दादा ह।ै

(D) N is the paternal grandmother of K./ N, K की दादी 

ह।ै
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Q.7 Ronita’s only brother Vikram is the husband of Kritika’s 

mother Sejal. How is Ronita’s mother Chandni related to 

Kritika? 

िोक्तनता का इकलौता भाई क्तवक्रम कृक्ततका की मां सेजल का पक्तत ह।ै िोक्तनता 

की मााँ चांदनी कृक्ततका से दकस प्रकाि संबंक्तित है?

(A)Paternal aunt / पैटिनल आंट

(B) Mother-in-law / सास

(C) Paternal grandmother/ दादी

(D) Maternal grandmother/ नानी
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A % B means A is the mother of B./A % B का अर्थ ह ैA, B की मााँ ह।ै

A $ B means A is the father of B./A $ B का अर्थ ह ैदक A, B का क्तपता ह।ै

A # B means A is the brother of B./A # B का अर्थ ह ैदक A, B का भाई ह।ै

A & B means A is the sister of B. /A औि B का अर्थ ह ैदक A, B की बहन ह।ै

Q.8 If J $ H # R % N & T # U % P then which of the following statements 

is NOT correct? 

यदद J $ H # R % N & T # U % P तो क्तनम्नक्तलक्तित में से कौन सा कर्न सही नहीं ह?ै

(A)R is the maternal grandmother of P./R, P की नानी ह।ै

(B) N is the sister of P./ N, P की बहन ह.ै

(C) J is the maternal grandfather of N. / J, N का नाना ह।ै

(D) R is the mother of U./ R, U की मााँ ह.ै



SSC GD 2023  (सफ़लता का महामंत्र) 

'A # B' means 'A is the brother of B’. /'A # B' का अर्थ ह ै'A, B का भाई ह'ै।

‘A@B' means 'A is the wife of B’. / A@B' का अर्थ ह ै'A, B की पत्नी ह'ै।

'A & B' means 'A is the daughter of B’./ 'A & B' का अर्थ ह ै'A, B की बेटी ह'ै।

'A % B' means 'A is the sister of B’./ 'A % B' का अर्थ ह ै'A, B की बहन ह'ै।

Q.9 If P % R & Y @ Z # M % N is true, then how is M related to P?

यदद P % R & Y @ Z # M % N सत्य ह,ै तो M, P से दकस प्रकाि संबंक्तित है?

(A)Maternal aunt/ मैटिनल आंट

(B) Paternal uncle/ पैटिनल अंकल

(C) Paternal aunt / पैटिनल आंट

(D) Mother/ मां
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Q.10 Pointing towards a man, a lady said, "His brother is my 

mother's only daughter's husband's son's father". How is the 

man related to the lady's husband? 

एक आदमी की ओि इशािा किते हुए, एक मक्तहला ने कहा, "उसका भाई 

मेिी मााँ की इकलौती बेटी के पक्तत के बेटे का क्तपता है"। वह व्यक्ति मक्तहला के 

पक्तत से दकस प्रकाि संबंक्तित है?

(A)Brother-in-law / ब्रदि इन लॉ

(B) Brother/ भाई

(C) Father / क्तपता

(D) Paternal uncle / पैटिनल अंकल
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Q.11. Introducing a man Suresh said, 'He is the son of that 

lady who is the mother of my mother's husband'. How is 

that man related to Suresh?

एक आदमी का परिचय दतेे हुए सुिेश ने कहा, 'यह उस मक्तहला का बेटा ह ै

जो मेिी मां के पक्तत की मां ह।ै' वह व्यक्ति सुिेश से दकस प्रकाि संबंक्तित है?

(A)Uncle/अंकल

(B)Son /बेटा

(C)Cousin/ कक्तजन

(D)Grandson/ ग्रैंडसन
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Q.12 Pointing to Mala, Kala said, "She is my brother's only 

sister's daughter". How is Mala related to Kala?

माला की ओि इशािा किते हुए, कला ने कहा, "वह मेिे भाई की इकलौती 

बहन की बेटी है"। माला, कला  से दकस प्रकाि संबंक्तित है?

(A)Mother/मााँ

(B)Daughter /पुत्री

(C)Aunt/आटं

(D)Niece/नीस
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Q.13Anjali says that “he is the only son of 

my sister’s brother's father. “How is that 

person related to Anjali?

अंजक्तल का कहना ह ैदक “वह मेिी बहन के भाई के 

क्तपता का इकलौता बेटा ह।ै “वह व्यक्ति अंजक्तल से कैसे 

संबंक्तित ह?ै

(A)Uncle 

(B)Cousin 

(C)Brother 

(D)Father
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Q.14 P, Q, R, S, T and U are six members of a family. 

Family has parents and their childrens. P is the son of R 

and T is the daughter of P. S is the daughter of U who is 

the mother of T. Q is the spouse of R

How many male members are there in the family?

P, Q, R, S, T औि U एक परिवाि के छह सदस्य हैं। परिवाि में माता-

क्तपता औि उनके बच्चे हैं। P, R का बेटा ह ैऔि T, P की बेटी ह।ै S, U की 

बेटी ह ैजो T की मां ह।ै Q, R का जीवनसार्ी है

परिवाि में दकतने पुरुष सदस्य हैं? (A)One 

(B)Two 

(C)Three 

(D)Can't be determined
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Q.15 In a joint family father, mother three married son 

and one unmarried daughter are there. Among sons, two 

of them have two daughters and one son each. How 

many female members are there in the family?

एक संयुि परिवाि में क्तपता, माता, तीन क्तववाक्तहत पुत्र औि एक 

अक्तववाक्तहत पुत्री ह।ै उनके दो बेटों में दो बेरटयां औि एक-एक बेटा ह।ै 

परिवाि में दकतनी मक्तहला सदस्य हैं?

(A)2 

(B)3 

(C)6 

(D)9
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Q.16 A is B's sister. C is B's mother. D is C's father. E is D's 

mother. Then, how is A related to D? 

A, B की बहन ह।ै C, B की माता ह।ै D, C का क्तपता ह।ै E, D की माता ह।ै 

तो, A, D से दकस प्रकाि संबंक्तित है?

(A)Grandfather/ ग्रैंडफादि

(B)Grandmother/ग्रैंड मदि

(C)Daughter/पतु्री

(D)Granddaughter/ग्रैंड डॉटि
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Q.17 R is the daughter of Q . M is the sister of B who is the 

son of Q. How is M related to R?

R, Q की बेटी ह।ै M, B की बहन ह,ै जो Q का पुत्र ह।ै M, R से कैसे संबंक्तित 

ह?ै

A.Cousin 

B.Niece

C.Sister

D.Aunt
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Q.18 P is father  of J. S is the mother  of N who is the 

brother of J . B is the son of S . C is the sister of B . 

How is J related to C . ?

P, J का क्तपता ह।ै S, N की माता ह,ै जो J का भाई ह।ै B, S का पुत्र ह।ै 

C, B की बहन ह।ै J , C से दकस प्रकाि संबंक्तित है?

A. Data – inadequate 

B. Cousin 

C. Brother

D. Sister
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"A+B" means ‘B is the daughter of A.’/ A+B" का अर्थ ह ै'B, A की 

बेटी ह।ै'

"A×B" means ‘B is the son of A’/"A×B" का अर्थ ह ै'B, A का पुत्र ह'ै

"A–B" means ‘B is the wife of A’. /A-B" का अर्थ ह ै‘B, A की पत्नी है’।

Q.19 If ‘Z×T–S×U+P’, how is U related to Z?

यदद 'Z×T–S×U+P', तो U, Z से दकस प्रकाि संबंक्तित है?

(A)Mother 

(B)Grandmother 

(C)Father 

(D)None of these
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"A × B" means ‘A is the mother of B’/"A × B" का अर्थ ह ै'A, B की मााँ ह'ै

"A – B" means ‘A is the father of B’/“A - B" का अर्थ ह ै‘A, B का क्तपता ह'ै

"A ÷ B" means ‘A is the brother of B’/"A ÷ B" का अर्थ ह ै'A, B का भाई ह'ै

"A + B" means ‘A is the sister of B’./“A + B" का अर्थ ह ै‘A, B की बहन ह'ै।

Q.20 In the expression M–D+K. How is K related to M?

अक्तभव्यक्ति में M-D+K. K, M से दकस प्रकाि संबंक्तित है?

(A)Mother 

(B)Sister 

(C)Daughter 

(D)Grand-daughter
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Q.21 Z is the son of L and the husband 

of G who is the sister of R and W then 

how is Z related to W?

Z, L का पुत्र ह ैऔि G का पक्तत ह ैजो R औि W 

की बहन ह ैतो Z, W से कैसे संबंक्तित ह?ै

(A)Father 

(B)Brother-in-law 

(C)Husband 

(D)Son



SSC GD 2023  (सफ़लता का महामंत्र) 

Q.22 There are six members L, M, H, J, D and E in the 

family. L is the mother of H who is the son of D and brother 

of E. J is the only sister-in-law of M who is the sister of E 

who is unmarried. How is J related to D?

परिवाि में छह सदस्य L, M, H, J, D औि E हैं। L, H की मां ह ैजो D का 

बेटा ह ैऔि E का भाई ह।ै J, M की एकमात्र क्तसस्टि इन लॉ है जो E की 

बहन ह ैजो अक्तववाक्तहत ह।ै J, D से दकस प्रकाि संबंक्तित है?

(A)Daughter-in-law 

(B)Daughter 

(C)Sister 

(D)Mother
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Q.23 X and Y are brothers. R is the 

father of Y. T is only sister S and S is 

maternal uncle of X. How is T related to 

R?

X औि Y भाई हैं. R, Y का क्तपता ह।ै T, S की

इकलौती बहन ह ैऔि S, X का मामा ह।ै T, R से 

दकस प्रकाि संबंक्तित है?

(A)Mother 

(B)Wife 

(C)Sister 

(D)Brother
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Q.24 M is the son of P. Q is the 

grand daughter of O who is the 

husband of P. How is M related 

to O?

M, P का बेटा ह।ै Q, O की पोती ह ैजो 

P का पक्तत ह।ै M का O से क्या संबंि 

ह?ै

(A)Son 

(B)Daughter 

(C)Mother 

(D)Father
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Q.25 A is B’s brother. C is 

D’s father. E is B’s mother. A 

and D are brothers. How is E 

related to C?

A, B का भाई ह.ै C, D का क्तपता ह।ै 

E, B की मााँ ह।ै A औि D भाई हैं. 

E, C से दकस प्रकाि संबंक्तित ह?ै

(A)Sister 

(B)Sister-in-Law 

(C)Niece 

(D)Wife
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